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288 Chapter 11

Section 11.2  Angular Momentum
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FIG. P11.11
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1 FIG. P11.37
Kf = E(M + m)U;

v, =( m Jv = velocity of the bullet and block
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Fraction of K lost =




P11.42  Angular momentum of the system of the spacecraft and the gyroscope is conserved. The gyro-
scope and spacecraft turn in opposite directions.
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P11.50 (a) Angular momentum is conserved:
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(b) The original energy is é—mvf
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The final energy is FIG. P11.50
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2 2\ 12 4 )J(Md+3md)" 2(Md+3md)
The loss of energy is
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and the fractional loss of energy is
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